2
x*-3x+3
L 4 y="—F—-

X ~-x+1

P8l O-Dx - (y=3)x+y-3=0

HHADZO - (-3 -4y-Dr-3)20

(y—-3)(3y~1)_>_0,§_<.y$3 :
FRLL EkiEE 3 RAMER LS

2. B yr=x>-8x+7 H y2 422222
Fi |
0=y2+zz+y;-6x4623yz'-éx+6=3(x2—8x+7)—5x+6=3(x2-10x+9)
| 02(x—9)x-1) # 1<x<9

3. sin18°+sin x = cos(30°-18%)

sinx = —\E—coslg"-—%sin 18° = 5in 42° = sin(42° +360°x n)
X BHEREE QK

4 FE= n*+2n3+11n2 +10n=n(n® +2n2 +11n+10)= n(n +1)(n* +n+10)

ERR= n(n+1)(n2+n—2+12)=n(}z+1)(n-1)(n+2)+12n(ﬁ+1)-
w24 | (n=-Du(n+Dn+2) L2 | nn+1)=>24]| 12n(n+1)
224 | (n*+20° +11n% +10n) |

5. () & p=3ktl =>p+56=3(k+19) (FRA) (B pS6 REFH)

(i) & p=3k-1=>p+28=3(+9) (F&)(B% p28 XKH)
& (AT p=3k EpAHEH AL p=3



"B ABCD BEF®H °
F 2L 480C'=,460D=90°,5C‘=55=%.§5 =%Eﬁ=fb‘é

B LF=30°%& /BDF =90°+60°=150°=54F .....n=5





